
1

1

2

2

A A

B B

10/11/2012 7:49:46 AM Last Saved By jlmoss TimeStamp Reference File: D:\Inventor Workspace\Inventor 
Files\Mix-Mill\92007100-92007199\92007110.iam

92
00

71
10

CAD
NO MANUAL
CHANGES

TOLERANCES
EXCEPT AS

NOTED

FRACTIONAL:

ANGULAR:

FINISH:

TITLE:

DATE:

SCALE: DRAWN BY:

SIZE: SHEET:PART NUMBER:

APPROVED BY:
DIVISION OF A. T. FERRELL COMPANY BLUFFTON, INDIANA - USA

DECIMAL:

jlmoss DMJ1:12

MILL ASSY, SIDE DISCHARGE, SENTRY 1030

7/12/2012 D of1 2 

xxx ± .005
xx  ± .030

± 1/32

± 1/2

 

This drawing is the
property of the A.T.

Ferrell Company, Inc
and must be returned

immediately upon
request.  No part of this

drawing may be
reproduced, stored in a

retrieval system or
transmitted in any form

or by any means,
without prior written
consent of the A.T.

Ferrell Company, Inc 92007110-I

NOTES:
1. DO NOT SCALE FROM DRAWING.
2. ALT DIMENSIONS [X.X] IN MILLIMETERS.
3. RECOMMENDED MAINTENANCE CLEARANCE; FRONT: 36.00 [914.4], SIDE & REAR: 24.00 [609.6].
4. WEIGHT AS SHOWN WITH 30 HP DRIVE MOTOR: 657 LBS [298 KG].

REVISION HISTORY
REV ECN DESCRIPTION DATE APPROVED
A 120054 RELEASE 9/26/2012 jlmoss

AUGER OUT REARWARD
GUARD TO FRONT

(TOP VIEW)

AUGER OUT FORWARD
GUARD TO REAR
(RT SIDE VIEW)

AUGER OUT FORWARD
GUARD TO REAR
(BOTTOM VIEW)

AUGER OUT UPWARD
GUARD TO REAR
(RT SIDE VIEW)

AUGER OUT REARWARD
GUARD TO FRONT
(RT SIDE VIEW)

AUGER OUT FORWARD
GUARD TO REAR

(NE REAR ISOMETRIC VIEW)

AUGER OUT FORWARD
GUARD TO REAR

(TOP VIEW)

AUGER OUT FORWARD
GUARD TO REAR

(TOP VIEW)
AUGER OUT FORWARD

GUARD TO REAR
(BACK VIEW)

AUGER OUT FORWARD
GUARD TO REAR
(RT SIDE VIEW)

AUGER OUT FORWARD
GUARD TO REAR
(FRONT VIEW)

AUGER OUT FORWARD
GUARD TO REAR
(LT SIDE VIEW)

AUGER OUT FORWARD
GUARD TO REAR

(NW FRONT ISOMETRIC VIEW)

56.34 [1431.1] 

46
.2

2 
[1

17
3.

9]
 D

O
O

R
 C

LO
SE

D
 L

EN
G

TH

2.40 [61.0] FLOOR TO 
BOX CLEARANCE

57.43 [1458.8] EXTREME WIDTH

8.04 [204.2] 

25
.1

6 
[6

39
.0

] 
TY

P.

28.05 [712.4] TYP.
1.00 [25.4] TYP.

34
.5

3 
[8

77
.1

] 
EX

TR
EM

E 
H

EI
G

H
T

37.33 [948.1] TYP.

4.18 [106.2] 9.38 [238.1]

.23 [5.7]  MOTOR NOT
CENTERED ON CASING

18.38 [466.7]
POWER IN 30HP

32.54 [826.4] 
POWER IN 3/4 HP

16.71 [424.3] 
POWER IN 3/4 HP

56.34 [1431.1]

33.40 [848.3] 

39
.8

3 
[1

01
1.

7]

14.06 [357.2] 

55.93 [1420.6] EXTREME LENGTH

11.21 [284.7]
POWER IN 30HP

23.40 [594.3] 

5.
98

 [
15

2.
0]

 

15
.8

3 
[4

02
.1

]

30
.2

5 
[7

68
.5

] 


IN
FE

ED

26.47 [672.3] 
INFEED

19.69 [500.2] 

30
.2

1 
[7

67
.4

] 
IN

FE
ED



1

1

2

2

A A

B B

10/11/2012 7:50:42 AM Last Saved By jlmoss TimeStamp Reference File: D:\Inventor Workspace\Inventor 
Files\Mix-Mill\92007100-92007199\92007110.iam

92
00

71
10

CAD
NO MANUAL
CHANGES

TOLERANCES
EXCEPT AS

NOTED

FRACTIONAL:

ANGULAR:

FINISH:

TITLE:

DATE:

SCALE: DRAWN BY:

SIZE: SHEET:PART NUMBER:

APPROVED BY:
DIVISION OF A. T. FERRELL COMPANY BLUFFTON, INDIANA - USA

DECIMAL:

jlmoss DMJ1:12

MILL ASSY, SIDE DISCHARGE, SENTRY 1030

7/12/2012 D of2 2 

xxx ± .005
xx  ± .030

± 1/32

± 1/2

 

This drawing is the
property of the A.T.

Ferrell Company, Inc
and must be returned

immediately upon
request.  No part of this

drawing may be
reproduced, stored in a

retrieval system or
transmitted in any form

or by any means,
without prior written
consent of the A.T.

Ferrell Company, Inc 92007110-I

34
.9

9 
[8

88
.9

] 
EX

TR
EM

E 
H

EI
G

H
T

37.33 [948.1]

57.43 [1458.8] EXTREME WIDTH

18
.3

8 
[4

66
.7

] 
PO

W
ER

 
IN

 3
0 

H
P

23
.0

0 
[5

84
.2

] 


1.73 [43.9]

11.21 [284.7]
POWER IN 30HP

1.09 [27.7]

41
.3

2 
[1

04
9.

5]
 

19
.6

9 
[5

00
.2

] 


7.50 [190.5] BC

.375 [9.5] THRU 6X

6.06 [154.0]
INLET

26.46 [672.0] 
INLET

8.
89

 
IN

LE
T

6.74 [171.3]

9.37 [238.0] 

14.02 [356.2] 

REVISION HISTORY
REV ECN DESCRIPTION DATE APPROVED
A 120054 RELEASE 9/26/2012 jlmoss

NOTES:
1. DO NOT SCALE FROM DRAWING.
2. ALT DIMENSIONS [X.X] IN MILLIMETERS.
3. RECOMMENDED MAINTENANCE CLEARANCE; FRONT: 36.00 [914.4], SIDE & REAR: 24.00 [609.6].
4. WEIGHT AS SHOWN WITH 30 HP DRIVE MOTOR: 657 LBS [298 KG].

AUGER OUT REARWARD
GUARD TO FRONT
(RT SIDE VIEW)

AUGER OUT REARWARD
GUARD TO FRONT

(TOP VIEW) AUGER OUT FORWARD
GUARD TO REAR
(RT SIDE VIEW)

AUGER OUT FORWARD
GUARD TO REAR
(BOTTOM VIEW)

AUGER OUT UPWARD
GUARD TO REAR
(RT SIDE VIEW)

AUGER OUT FORWARD
GUARD UPWARD

(REAR VIEW)

AUGER OUT FORWARD
GUARD UPWARD

(NE REAR ISOMETRIC VIEW)

AUGER OUT FORWARD
GUARD UPWARD
(FRONT VIEW)

AUGER OUT FORWARD
GUARD UPWARD
(BOTTOM VIEW)

AUGER OUT FORWARD
GUARD UPWARD
(LT SIDE VIEW)

AUGER OUT FORWARD
GUARD UPWARD
(RT SIDE VIEW)

AUGER OUT FORWARD
GUARD UPWARD

(NW FRONT ISOMETRIC VIEW)

AUGER OUT FORWARD
GUARD UPWARD

(TOP VIEW)

46.22 [1174.0]

56
.3

4 
[1

43
1.

1]
 T

YP
.

2.40 [61.0] 
FLOOR CLEARANCE

28
.0

5 
[7

12
.4

] 


 T
YP

.

1.00 [25.4]  TYP. 25.16 [639.0]  TYP.

57
.4

3 
[1

45
8.

8]
 E

XT
RE

M
E 

W
ID

TH

7.
92

 [
20

1.
2]

 T
YP

.

34
.9

9 
[8

88
.9

] 
TY

P.

37.33 [948.1] TYP.

.23 [5.7]  MOTOR NOT
CENTERED ON CASE

9.38 [238.1]
POWER IN 30HP

18
.3

8 
[4

66
.7

]
PO

W
ER

 I
N

 3
0H

P

21
.7

9 
[5

53
.4

] 
PO

W
ER

 I
N

 3
/4

 H
P

32.54 [826.4]
POWER IN 3/4 HP

5.98 [152.0]  OUTLET

27
.7

4 
[7

04
.6

]

23.40 [594.3]  THIS OUTLET & GUARD
CONFIGURATION ONLY WORKS 

WITH TOP FEED SETUP

CLEANOUT SHOWN
PARTIALLY OPEN

54.20 [1376.7] EXTREME LENGTH



DETAIL  A
SCALE 1 / 2.5

1

1

2

2

A A

B B

11/14/2012 8:05:29 AM Last Saved By jlmoss TimeStamp Reference File: D:\Inventor Workspace\Inventor 
Files\Mix-Mill\92007100-92007199\92007110.iam

92
00

71
10

CAD
NO MANUAL
CHANGES

TOLERANCES
EXCEPT AS

NOTED

FRACTIONAL:

ANGULAR:

FINISH:

TITLE:

DATE:

SCALE: DRAWN BY:

SIZE: SHEET:PART NUMBER:

APPROVED BY:
DIVISION OF A. T. FERRELL COMPANY BLUFFTON, INDIANA - USA

DECIMAL:

jlmoss DMJ1:9

MILL ASSY, SIDE DISCHARGE, SENTRY 1030

7/12/2012 D of1 1 

xxx ± .005
xx  ± .030

± 1/32

± 1/2

 

This drawing is the
property of the A.T.

Ferrell Company, Inc
and must be returned

immediately upon
request.  No part of this

drawing may be
reproduced, stored in a

retrieval system or
transmitted in any form

or by any means,
without prior written
consent of the A.T.

Ferrell Company, Inc 92007110

KNOB, NORTHWESTERN HK-5T 175101K910-0127143
BASE WLDMT, MOTOR, SENTRY 13019000719042
INLET WLDMT, 6" REVERSIBLE, SENTRY 13019000717041
DOOR WLDMT, OUTER, SENTRY 13019000715040
BRACKET ASSY, HANGER BEARING, 6" AUGER19000712039
MILL HOUSING, SIDE DISCHARGE WLDMT19000711038
PLATE, BUILD: CLIPPER, FERRELL-ROSS18002001737
DECAL, MOTOR WARRANTY SERVICE18000651736
DECAL, WARNING OPEN SWITCH18000650635
KNOB, 4-LOBE, 3/8-16 THRU38000600934
DECAL, MADE IN THE USA18000369733
DECAL, MIX-MILL 5 x 2118000366232
DECAL, WARNING, FAN BLADE18000364231
LATCH, MILL DOOR CL-250-PA27000451030
NUT, HEX NYLOCK 5/16-1826700380029
NUT, 1/2-13 HEX SERRATED46678520028
NUT, HEX SERR LOCK 3/8-1646678440027
NUT, HEX SERR LOCK 5/16-18206678380026
NUT, HEX SERR LOCK 10-2486678260025
WASHER, FLAT 1/2" TYPE A46640520024
HHCS, SERRATED WASHER HEAD, 3/8-16 X .75"56568441723
HHCS, SERR WASHER HEAD, 5/16-18 X 3/4"56568381722
SCW, MACH HX WSH HD T/C 5/16-18 X 1/2"166568381221
HHCS, 1/2-13 X 1.25"46258522620
HHCS, 5/16-18 X .75"26258381719
SCW, MACH, PAN HD, 10-24 X 3/4"86234261718
KEY, SQUARE .375 X 1.50"14900082417
BUSHING, QD SD 1.625"14401072016
MTR, 30HP 3536 0/6 230/460V TEFC 286TS13300071515
MTR 3/4HP 3D18 0/6 TEFC FT13300050614
SWITCH, MICRO, DOOR13100802513
COVER, 4" HOLE, 6 BOLT, SENTRY 13011122715012
MNT PLT, LATCH, D MILL41122307011
SEAL, FELT WASHER 1.63 ID X 4.00" OD, CUPPED11122151110
PLATE, IDLER BEARING BASE, 8.25"1111948819
BEATER HUB ASSY, 18" MILL110A3838
SCREEN WLDMT, 8 X 18" SPLIT, 1/2", 18812A1467-K7
WEAR PLATE WLDMT, 6" AUGER BAFFLE, 18812A14616
SCREEN TIGHTENER, WLDMT12A12615
SUPPORT, INNER DOOR, 18812A12524
WEAR PLATE WLDMT, SCREEN, 18822A12513
DOOR WLDMT, INNER, 18812A12502
SPACER WLDMT, INNER DOOR, 18831A18141

Parts List
DESCRIPTIONQTYPART NUMBERITEM

A

NOTES:
1. DO NOT SCALE FROM DRAWING.
2. * NOT INCLUDED IN BOM. SALES ORDER LINE ITEM.

REVISION HISTORY
REV ECN DESCRIPTION DATE APPROVED
A 120054 RELEASE 7/16/2012 jlmoss

40

23

34

2

29

19

7

16

16

3

6

25

13

22

2139

21

41

12

21

28

17
15

28

2024

24

20

21

13

22

18

25

1

4

8

2617

3

BACK
NE ISOMETRIC

VIEW

FRONT
NW ISOMETRIC

VIEW

FRONT
NE ISOMETRIC

VIEW

30

9

38

42

5

10

10

*

*

43

26

22

40

23

27

32

35
31

33

*

37

36

11


